Homework 8

SNU 4190.210 Fall 2012

Kwangkeun Yi

due: 12/07(Fri) 24:00
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module type Queue =
sig
type element
type queue
exception EMPTY_Q
val emptyq: queue
val enq: queue * element -> queue
val deq: queue -> element * queue

end
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module StringQ: Queue = struct ... end

module StringQQ: Queue = struct ... end
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let csQ = StringQ.enq



(StringQ.enq
(StringQ.emptyq, "2AE"),
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module StringQ: Queue with type element = string
= struct ... end
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module StringSetQ: Queue with type element = string
= struct ... end
module StringSetQQ: Queue with type element = StringSet(.queue

= struct ... end
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module QueueMake (Arg: ArgTy): Queue with type element = ...
= struct ... end
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module StringQ = QueueMake(...)
module StringQQ = QueueMake(...)
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type design = TURTLE | WAVE | DRAGON (* three design patterns *)
type orientation = NW | NE | SE | SW
type box = BOX of orientation * design | GLUED of box * box * box * box
module type FRAME =
sig
val box: box
val rotate: box -> box (* rotate box M to 3 to W to E %)
val pp: box -> int * int -> unit (* pretty printer *)

end



module BasicFrame (Design: sig val design: design end): FRAME =
struct
exception NON_BASIC_BOX
let box = BOX (NW, Design.design) (* a box is defined *)
let rotate = ...
let pp b center = match b with
BOX(NW,x) -> () (x dummy, fill it if you want *)
BOX(NE,x) -> () (* dummy, fill it if you want *)
BOX(SE,x) -> () (* dummy, fill it if you want *)
BOX(SW,x) -> () (x dummy, fill it if you want *)
_ —> raise NON_BASIC_BOX
end
module Rotate (Box: FRAME): FRAME =
struct
let box = ...
let rotate = ...
let pp = ...
end
module Glue (Nw: FRAME) (Ne: FRAME) (Se: FRAME) (Sw: FRAME): FRAME =

struct

end
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A = BasicFrame(struct let design
B = BasicFrame(struct let design
A’ = Rotate(A)

A’’ = Rotate(A’)

B’ = Rotate(B)

B’’ = Rotate(B’)

A4 = Glue (A) (B) (A’) (B”)

B4 = Glue (A) (A’) (B) (B”)

A4’ = Rotate(A4)

B4’ = Rotate(B4)
C = Glue (A4) (B4) (A4°) (B4?)

let bluePrint = C.pp C.box
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TURTLE end)
WAVE end)



